Pre-Calculus Worksheet 





Name___________________

#10 Combo for Test 6.2
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Find the following limits by using your calculator.  Be sure to complete the table.
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Find the following limits BY HAND.  Show your work.  You may need to use a separate sheet of paper!
	3.  
[image: image5.wmf]3

1

lim

4

x

x

x

®

+

+


	4.  
[image: image6.wmf]2

2

5

25

lim

310

x

x

xx

®

-

--



	5.  
[image: image7.wmf]2

12

1760

lim

12

x

xx

x

®

-+

-



	6.  
[image: image8.wmf]2

2

2

lim

310

x

x

xx

®

-

+-



	7. 
[image: image9.wmf]4

2

2

lim

16

x

x

x

®-

+

-


	8. 
[image: image10.wmf]32

2

232

lim

2

x

xxx

x

®

-+-

-



	9.  
[image: image11.wmf]0

lim

33

x

x

x

®

+-


	10.  
[image: image12.wmf]0

11

44

lim

x

x

x

®

-

+




Determine the requested information from graphs.
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17. Find the following values, given the graph of g(x).
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